FmEE S 1:500

HKERHTE L=410 m

TERMEEREE = ILS HIVP  $30) L=475m .

18 T $ 1:100

No2

DP=300 No.l
L=12m AL =
|
500 |
{
] ' |
Iltiiill Illflllililrl|||l|'||—|—l~
N I T Y I R RSN
No0+10
\ Noy No2
+140 i
I sw
|
[
g
(RT)
I$3 HERENRTH
ERE FHE., ROER
fERERB
®R &5 |ms' i 2
f3t2
TREE (LR




{)\ BE7v+30x500L
‘ BEA VT 30X (X

SRR #i5B0Nt

k& 2imm, BOXA ik K # 4

F—WT3OXUE \
L=|1Tm\
¢

o 140

5
/\iz*“ 11730
\

VPSOX 30 4 F ki

- +05
yy 1 il BT,
HIVP3(
DP=05m
||:500 -:— 800 4 SO(Li
(. fi-dn | i
500 500
: - *{E -—“I{l_%:_ § b gf x“::: é
L HIVPY) HIVP3Q. 25
WFE B - ERE R EA

L=05m

(BRT)
I%8 HRETRIR
L - #WE ‘

tRREAR o

B MR fres I EEes l 2 H
RUAE -

| mas op— ]




